IB Math HL1: Curve Analysis Practice: Work with your group members
Use of Calculator is okay when appropriate. However, must show your work.
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1) Given: f(x)=sinx+cosx xe[0,27]
(Identities: sin2x =2sinxcosx, cos2x =cos’ x—sin’x =2cos’ x—1=1-2sin’ x)

a) Find the stationary points expressed in ordered pair (X, y). _( “ UZ ’ ( <2 ‘ )
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b) Find the intervals where f( x) is increasing and decreasing.
Increasing: [o, &) U

(%% ] Decreasing: (X S%
Justify by sign diagrauu: ) Y

K gt th

f(x)-‘ (0 sx - Siax

¢) Find the inflection point(s) just for x values. = 3 Ly
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d) Find the intervals where f(x) is concave up and concave down
Concaveup: [ 2P~ Tk
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e) State the local max or min and justify. Max: )( = K

Min: = St
.

Rost +c[‘);1::u~’ﬁw | /7 \-F f(_e, / f(lt)}o

(0) 70 (%)<0




£ey
2) Forthe given f(x)=e*sinx on x [0, 27]

¢) Find the y-intercept and the x-intercepts

y-int: _ (06,0) x-int: (0,0!
0= 7" SinX
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f) Find the stationary points expressed in ordered pair (X, y)
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g) Find the intervals where f(x) is increasing and decreasing. [2 ptsﬂ. 3 -
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h) Find the inflection point(s) just for x values

Work:
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i) Find the mtervals where f(x ls conc e up and concave down. |3 pts] =T
Concaveup: _ (& 7] Concave down: R [osX =0 X 3
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3) Given f(x)=— 1
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4) Find the stationary points expressed in ordered pair (X, y).
Work: 2 3 Z\( 3 2X %
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5) Find the intervals where f(x) is increasing and decreasing. s
Increasing: (0, ¢0) Decreasing: (= e, ) ;: o7 . -/
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6) Find the inflection point(s) just for x values. X= 3 3 IR é;‘ )
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7) Find the intervals re f(x) is concave up and concave down.
Concave up: -2 i?-l ) Concave down:(zyo)’kg)()(ugl o) S ~ s (Sx¥42kH) =0
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¢) State the local max or min and justify. Max: Min: X=0
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